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8. Explain the following :

(a)

(b)
()
@
(e)

“Correlation and Regression are Two sides of the
same coin’™

Spearman’s Rank Correlation Coefficient
Standard Error of Estimate
Parametric tests and Non-parametric tests

Null and Alternative hypotheses.  3+3+4+3+3
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Note : Attempt five questions including the question
No. 1 which is compulsory.
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1. (a)

()

(d)

[14306]

How partial correlation is similar to and different
from multiple correlation ?

iAF Hedsy e 0P § Ig UeHew F @I9 oW o

2? '

List down the properties of regression
coefficients.

s ot @ fadwanett # g Fifm)

What is coefficient of determination ? In an
analysis involving two variables, the coefficient of
determination is found to be 0.74. How will you
interpret this value ? ' .

Faier & e o ¥ ? 3 oRadl & fsdwor § Fraior @
iE 0.74 s @ gw A & FefEw og 3% s ?

State and develop the addition theorem of
probability for mutually exclusive events.
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weeqy fafdre e=slt @ fow witean 3 Amers iy @ S
T faeme AR | ' :

With the help of an example, explain the concept
of conditional probability.

% S i qErgal ], 99 mitea i Saren H e
FIT | _ )

What are Type I and Type II Errors in hypothesis

testing ? 2+3+3+3+342
Syeq gl # g I aen st 11 gfedt w=n 8 ?
' 2+343+3+3+2

Explain the meaning and significance of
the coricept of correlation. Does correlation
always signify casual relationships between
two variables 7

AEGET $ TEgEOn 3 ol T Wew P e Hmiwdl
T Hewsy wda & uiEdl d 9 omsfe dedl @ e
H{dl & 7

List down important properties of Karl Pearson’s
coefficient of correlation.

Heddy & e fEET B e # dewyge Ausded @
s BT | '
Draw a scatter diagram from the data given below
and interpret it.

X {10 20| 30|40 |50 | 6070 | 80
Y |32 |20 ] 24|36 |40 |28 (38|44 |
i 6+5+5
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Ted @ TF ©hel (99 qGRy a9 IHE tdew
: _ _

X [10]20] 30[40]s0[e0]70] g0

Y (32|20 24|36 40| 28 38| 44

6+5+5

Find out the two regression equations showing the
regression of production on capacity utilization
and the regression of capacity utilization on
production from the following data :

Standard Deviation.

Mean

35.6

Production

(in lakh units)
Capacity Utilization
(in % age)

10.5

84.5 8.5

The coefficient of correlation between production
and capacity utilization is found to be 0.62

Estimate the production, when capacity utilization
is 70%. Also estimate the capacity utilization,
when production is 30 lakh units.

Frafaiea wo & a9l B SUET W INEA @ OdREE o
SERA W NG @ S & OwiemE B REn g @
getrm @il | i

Ty I BEad
FearesT
(m ) ; ﬁ) 35.6 10.5
&TEl Bl TG
(sF %) 84.5 8.5

IR HEITH'-I'I % I % 99 wsdEg. @ PnE 0.62
qrET 4 _
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4. (a)

()
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4506]

http://www.kuonline.in
(4) '

e @ WA HT 9 gW H Gi4a TU%e 6t

gl & IUAE F Al HRbEA oY, S99 3w 30 @il
sl g1

The equations of two regression lines between two

variables are expressed as :
2X-3Y=0and4Y-5X-8=0.

(i) Identify which of the two can be called

regression line of Yon X andof X on Y.

(if) Find X and Y and correlation coefficient

r from the equations. 8+8

3 qiteal 3 fia ) g st & gl & e w9

H ayed Brar T 8
2X-3Y=0dR4Y-5X—-8=0.

(i) X®Y®man Y o X 3 ydom 9491 F B ww

W Tl & 7

(i) wheof @ X 7 Y oo wedew 0% r &6

FifTe | 8+8

“What do you understand by the term ‘probability’.
Explain the relative frequency approach to the

definition of probability.

R o @ AT a4 W 8 7 Wifmdar @i GitArT &

s gt IqrmT F SR i |

The odds that A speaks the truth are 7:3 and the
odds that B does so are 3:2. In what percentage of
cases are they likely to agree each other on an

identical point ?
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A % am G@t 9 v 7:3 B o B @ a@ w A

e 3:2 81 frad afawa are # o avw g w3t

& wowd B & dwa B 7

State and develop the Bays® Theorem of

probability. 6+5+5

midEm B 3 & TET W I Hitaw e e Fin g
6+5+5

How is the concept of probability is relevant to
decision making under uncertainty ?

sFiraam & @i Fofaw @ R o 9t saaron B9
wER #H 8 ? '

The chances of solving a problem in mathematics
by four students A, B, C, and D are 1/5, 1/4, 1/3,
and 1/2 respectively. Find the probability that the
problem

(i) will be solved,

(ii) will not be solved.

are gt A, B, C aur D & it § oo 9w & &7 05
#1 g=fi wmen 1/5, 174, 1/3, @ 1/2 8 afamar s
e & aaen &7t :

(i) @wER 1 S,

(i) wuram TE & 9@m)
- What is the probability that a non leap year, selected

at random, will contain
(i) 52 Sundays?
(ii) 53 Sundays ?

(iii) 54 Sundays ? 5+4+6+5
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7 s ¥ P argRed B9 @ 97 T o AR ol o F 8
(i) 52 tER ?
(i) 53 aEm ?
(iii) 54 @R ? 5+6+5

What is a time series ? What are different
comporents of a time series ? Explain.

T A R § 7 0% GNY gEd @ M- s R/ E ?
AT | .

What purpose does the time series analysis
serve ? What are additive and multiplicative models
of time series analysis 7 - 8+8

999 e Reae 5 3R A qu & 7 a9y e
Rigtiaer 3 Ao o IoTeRs SR g & ? 8+8

At a'university level 1000 students are classified
according to their IQ level and economic
condition, as follows :

Economic IQ Level Total
Condition | High Medium Low
Rich 160 300 140 | 600
Poor 140 100 160 | 400
Total 300 400 300 | 1000

Use %’ -test to find out whether there is
association between IQ level and economic

condition. (X’ =5.99 for 2 d.f. and at 5% level of

significance)
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Rgafaerm X W 1000 Bt & 7@ ghe Ry 3 @@
afeies wawen & ATAR B SR & oG e o B ¢

i g wfa 'R

ST = Lo = kol
i 160 300 140 | 600
T 140 100 160 | 400
el 300 400 300 1000

gie wfer wT gL o orawa & < = A deed & S

B B R X -olRm B 9w BRI (2 d.f. qr e

# 5% W W X =599 2)

A company is engaged in the packaging of a

superior quality tea in jars of 500 gm each. The

company is of the view that as long as the jars
contains 500 gm of tea, the process is under
control. The standard deviation of the process is
50 gm. A sample of 255 jars is taken at random
and the sample average is found to be 510 gm. Has
the process gone out of control ? 8+8
o F¥A S00 ard 9% B AR F Feed e S g A/
BRI HTA 21 FN H AR R B ow o IR F 500 ™
= ¥, sfmar Rt & v § 1 b < w Rt 50 T
2 agfes = & 225 0 # T R mE qer g
siteg 510 7 e wan w= gfEw FEser 3 aEl
a7 848
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